Math 153 - Quiz 7 Name _ Key

October 25, 2012 Score

Show all work to receive full credit. Supply explanations when necessary. This quiz is worth
10 points. "

Two coins are selected at random (without replacement) from a jar containing 3 nickels, 1
dime, and 5 quarters. Let x represent the total value, in cents, of the selected coins.

1. Thinking about this procedure as a two-stage experiment, sketch the probability tree. .
Include the probability of each path.
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2. What are all the possible values of the random variable z. : /

0, |5, 30, 35,50



3. Determine the probability distribution for x.
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4. Find the mean (expected value) for x.
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6. Are any of the possible values for z unusually small or large? Explain.
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